
qm=;+= ljj/)f /sd1 g]kfn ;/sf/af^ k|fKt ;`rfng cg'bfg /sd 241,810.001= sfof{no ;`rfng 50,000.002= sd{rf/L k|f]T;fxg 30,000.003= %kfO{ 13,000.004= ;+rf/ 10,000.005= lj!fkg 10,000.006= cf=;=r=k|= 50,000.007= ;jf/L ;fwg vl/b 250,000.008= ;jf/L ;fwg OGwg÷dd{t 100,000.009= sd{rf/L Ifdtf ljsf; sfo{qmd 75,000.0010= b}lgs e|d)f eQf -of]hgf cg'udg_ 200,000.0011= a}&s eQf 252,000.001,040,000.00v g]kfn ;/sf/af^ k|fKt ePsf] k"hLut cg'bfg 6,367,464.00v=1 nlIft sfo{qmd tkm{ 16% 921,600.00v=1=1 dlxnf nlIft sfo{qmd cGt/ut -4%_ 230,400.00s= dlxnf :jd\;]ljsf eQf 100,000.00v= dlxnf l;k ljsf; sfo{qmd 130,400.00v=1=2 blnt, h]i& gful/s, ckf~\u -4%_ 230,400.00s= blnt ejg lgdf{)f 170,400.00v= h]i& gful/s ;Ddfg sfo{qmd 20,000.00u= ckf~\u d}qL sfo{qmd 40,000.00v=1=3 afnaflnsf nlIft sfo{qmd -4%_ 230,400.00s= afnSnjx?nfO{ 100,000.00v= v]ns'btkm{ 130,400.00v=1=4 cflbjf;L hghtL tkm{ -4%_ 230,400.00s= u'Daf ejg dd{t ofuL 30,400.00v= hghftL ejg lgdf{)f 200,000.00921,600.00
u k"hLut cg'bfgaf^ nlIft ;d'xsf] /sd #^fpbf s'n k"hLut cg'bfg 48,38,400.00u=1 ef}lts k"jf{wf/tkm{ 60% 2,903,040.00s= df]^/af^f] ;/;kmfO{ tyf :t/f]GgtL 12,50,00.00

hDdf 

             ;fNkfl;ln%f] ufp¤kflnsf            2 g+= j*f sfof{no cg'bfg vr{ af¤*kmf¤*

hDdf sfof{no ;`rfng vr{



v= gof¤ 6«ofs cf]kfg -lkof]s­lr;fkfgL, tfDn'~­lj;f}gL, #n]ufp­ofuL_ 5,50,000.00u= tf/hfnL s'nf] lgdf{)f tkm{ 11,03,040.00hDdf 2,903,040.00
u=2 k|jw{gfTds tkm{ 40% 19,35,360.00s= l;+rfO{ s'nf] lgdf{)f kfkLvfnf *\of~\u|} v]t 50,000.00v= lhldufp¤ g/axfb'/ /fO{sf] #/ %]p d%{]        s'nf] 100,000.00u= lkofs v]t s'nf] lgdf{)f / ;]/f^f/L v]t l;+rfO{ s'nf] lgdf{)f 100,000.00#= ;xsf/L a:tL vf]g]kfgL of]hgf d'xfg dd{t 250,000.00~= pQ/] vfg]kfgL ^\od~\sL dd{t -lhldufp lxdfnr/L k|f=lj= ;d]t_ 100,000.00r= sfof{no ejg Joj:yfkg 4,90,000.00%= &f]^g]/L tNNf] ^f]n lzjfno dlGb/ lgdf{)f 100,000.00h= ufp¤#/ lSnlgs ejg lgdf{)f -&f]^g]/L ? 100,000.00, lko]f]s ? 100,000.00  / ofuL ? 100,000.00_ 300,000.00em= uf]?sf^] *f¤*f wfld{s tyf ko{^lso :yn lgdf{)f 1,95,360.00`f= ;+:yfut ;xof]u 200,000.001_ x]=kf]= cf}ifwL *'jfgL ? 95,000.002_ e]^]l/gl/ ? 35,000.003_ k|x/L rf}sL ? 35,000.004_ s[lif ;]jf sfof{no ? 35,000.00^= vfg]kfgLsf kfO{k vl/b - ;fuf^f~, lr;fkfgL, uf]St'n'~, lkof]s, &f]^g]/L kNnf]^f]n, le/s'jf, kfkLvf]nf a:tL, tfn, b]p/fnL, tfDn'~, Tofn'~, #n]ufp¤_ 300,000.00hDdf 1,500,000.002 ufp¤kflnsfaf^ /sd ljlgof]hg kl% lbO{g] of]hgfx? 
2=s

;fNkfl;ln%f] ufp¤kflnsf j8 g+= 2 leqsf k|fyflds ljBfnonx?nfO{ k|To]s ljBfnonfO{ ? 100,000.00 sf] b/n] 6 j^f ljBfnonfO{ 600,000.002=v >L &f]^g]/L df=lj=nfO{ 400,000.002=u >L of]udfof :d[lt k|lti&fgnfO{ 100,000.00



2=# lah'nL aQL tkm{ M -ss'jf, a*x/], s}s'vf]nf, lkof]s, ;+v'jf vf]nf_ 700,000.00
2=~ Snax? tkm{ M -;xsf/L­;'ljbx, Go":^f/, gjHof]tL, lhldufp¤, bfuj]]nf, ;fgf]tfn_ 600,000.002=r s'n'~ ax'd'vL SofDk; 500,000.002=% Pda'n]G; vl/b 500,000.002=h a; :^];g lgdf{)f 700,000.004,100,000.00

1 a'~\ln~ ;/sf/L, ss'jf x'b} ;fNkfkf]v/L d'Vo ;*s :t/f]]GgtL nflu 5,000,000.00
2
ebf}/] l;:g] vf]nf df;s^f x'}b} rf}sL*f¤*f j*f sfof{no hf]*\g] ;*ssf] 6ªofs cf]kg ug{ dfu ug]{ . 2,000,000.003 s'n'~ ax'd'vL SofDk; 1,500,000.004 ;+v'jf vf]nf ljh'nL lgdf{)f 2,000,000.005 of]udfof :d[lt k|lti&fg dd{t ;"wf/ 2,000,000.006 wfld{s tyf ko{^lso :yn lgdf{)f uf]?sf^]*f¤*f 2,500,000.0015,000,000.00

12345
qm=;+= gfd kb1 dfgaxfb'/ vqL j*fWoIf2 ljqmd rf}xfg ;b:o3 z+s/s'df/ /fO{ ;b:o4 lgd{nf #n] ;b:o5 lutf ;'Gbf; ;b:o67

j*f ;ldltsf] gfdfjnL

hDdfufp¤kflnsfdf dfu ug]{ of]hgfx? 

lj/f}^f­s'n'~ vfg]kfgL of]hgf ;`rfng ug{ dfu ug]{ . of¤uL lr:ofg s]Gb| :yfkgfsf] nflu dfu ug]{ . 

hDdfs]Gb|df dfu ug]{ of]hgfx? %lAa; k'ndf tTsfn km]/Lsf] dfu ug]{ .%laa; k'nePsf] :yfgdf 5 aif{ leqdf df]^/ tg]{ k'nsf] lgdf{)f ug{ dfu       s]Gb|Lo ljB't k|;f/)f nfO{g dfu ug]{ . 







6,364,640.00


